	
	Tto intensivo
	Tto estándar
	Tto intensivo
	Tto estándar

	
	PAS <135 mm Hg
	PAS <130 mm Hg

	Mortalidad global
	895/12294
	980/11916
	240/6392
	233/6428

	OR (IC 95%) peso %
	0,87 (0,79 a 0,95) 79.3
	1,04 (0,86 a 1,25) 20.7

	
	0,90 (0,83 a 0,98) p = 0,09 en test de interacción 

	

	Mortalidad CV
	387/11025
	435/11130
	85/5222
	77/5260

	OR (IC 95%) peso %
	0,90 (0,78 a 1,03) 83,3
	1,11 (0,82, 1,52) 16,7

	
	0,93 (0,82 a 1,06) p = 0,22 en test de interacción

	

	Infarto de miocardio
	211/5693
	236/5792
	160/5474
	174/5507

	OR (IC 95%) peso %
	0,92 (0,76 a 1,11) 57,3
	0,92 (0,74 a 1,15) 42,7

	
	0,92 (0,80 a 1,06) p = 0,99 en test de interacción

	

	Insuficiencia cardiaca
	167/6436
	169/6062
	107/5222
	105/5260

	OR (IC 95%) peso %
	0,82 (0,66 a 1,02) 60,7
	1,03 (0,78 a 1,35) 39,3

	
	0,90 (0,75 a 1,06) p = 0,20 en test de interacción

	

	Ictus
	389/1209
	410/11736
	45/5474
	86/5507

	OR (IC 95%) peso %
	0,90 (0,78 a 1,03) 85,6
	0,53 (0,38 a 0,75) 14,4

	
	0,83 (0,73 a 0,95) p = 0,005 en test de interacción


